London Moscow New Zealand France

2°C -4°C 4°C -3°C

Look at the table above and anwer these questions below!

Which city has the lower temperature?

Whch cith has the higher temperature?

Which city has lower temperature than London but has higher temperature than Moscow?
The temperature in London is  °C higher than in France.

The temperature in New zealand is °C higher than in Moscow

Yesterday in London was 3°C lower than today. What was the temperature?

On the next day, the temperature in France will be lower 2°C than today. What is the
tempereture?

Today the temperature in Moscow is lower 6°C than tommorow. What is the temperature?
9. Onthe next day, the temperature in New zealand will be 3°C higher than today. What is the
temperature?
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